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Surds & Indices

Let n be a positive integer and a be a real number, then:

. @xaxax...xa
~ (nfactor)

where a" is called "nth power of a" or "a raised to the power

where, a is called the base and n is called index or exponent@ wer a".

Laws of Indices: Q

am x a" = aM™*N where and (m, n) @ &
IEI_t-.| _}E:.ﬂ': }{-ﬂ:________ =lﬂ.'l|—:—.|-'— .

. a .when 1 is even

:_—._-:‘:11-'.315?:-2 1 is odd
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e aP/d =( al/a)P where pis a positive integer and q#0

e If the index of a power is unit (i.e. 1) then the value of the power is equal
to its base, i.e.

=0

ot —
el —

b

-

. = when a=0.1
e g =h"= B QO

@
Surds:If a is rational and n is a positive integer : "JE

3
Il
..

£
|
£y

]
|
5
£y
|

=1
is irrational,then h"ll: is called a surd r n or nth root of a.
e A surd which has unity as its ratigna or (i.e., a = 1) is called "pure

surd". e.g :ﬁﬁ ;"ﬁ el

e A surd which has a ratio other than unity, the other irrational, is

2247 537

called "mixed sur

L 4
o If implies , a is a rational number and \E is an irrational
numb
Quadrat

A sur order 2 (i.e 'n'rﬂ) is called a quadratic surd.

S -
E.g. : ¥= — = is a quadratic surd but =" isnota quadratic

el

surdbecause =2 is a rational number. Therefore A1 is not a surd.
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Cubic Surd:

A surd of order 3 is called a cubic surd. e.g. 91/3

Important Formulae Based on Surds :

Similar or like Surds:
surds having same irrational factors are called similar or like surds.
e.g.3Vv3, 4V3, 7V3 are similar surds.

Unlike surds:
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Surds having no common irrational factors are called unlike surds.
e.g. 3V3, 7V5 are unlike surds.
Comparison of Surds:

If two surds are of the same order then the one whose radicand is larger is the
larger surds.

7V3 > 3V3.

If two surds are of different order then:

Question:Which is larger ¥2 or ¥37 O
Sol. Given surds are of order 2 & 3 respectively whose L.C.I\Qa

2
Convert each into a surd of order 6, as shown belo

%E:S:E:S%H%:S:S:igj:s:{ﬁ @
PO =58 50332 C)Q

Some Useful Resul
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and *= """ Uthen y=n

x=12=3x4=nn-1)

we have

therefor y=3

o
(3)1f  Ja+b

X+2fa x+2a_ O
:{—E\E x—zﬁ_

+

e B
(@) a=ih

x+afa x—afa

e O
¥
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(c) 4 (d)7/2
s"m an‘ I.dm 18. The simplified form of (163/2 + 16-3/2) is :
By how much does V12 + V18 exceed V3 + V2 ? (@) o (b) 4097/64
(@) 2(vV3-v2) (b) 2(V3 +V2 (01 (d) 16/4097
(©) 2(V3 +2V2) (d) 2(\/3 2 2) 19. 163/4 isequal to:
The value of V5 + 26 Ea; 4‘}/2 8% 8
c)2vV2 16
()2v2  (b)2y3 20, (0.01024)'/5 is equal to :
(©) 1+V5 (d d)V5-1 (a) 4.0 (b) 0.04
The value of V24 +\/64+\/22 is: (C) 0.4 (d) 0.00004
(a) 12 (b) 16 21. (16%16x2036) js equal to :
(c)18 (d) 24 (a) 2 (b) 16
23/32 =334 + {500 is equal to : (c) 32 (d) 64
(@)4¥6  (b)3v24 22. (64)-2/3 x (1/4)2is equal to :
(c) 6V4 (;l) 916 (@)1 (b) 2
Simplify : ( = (172 (d)1/16
2-5/3 12 | 1=V2
23, r+r+ = \/_51mp11 Y
(@)1/2-5V3 (b)2-5V3 (2) V5+V6 (b) 2V5kv6
©1 (@0 . (@ V5-v6 (d)2V5-
The value of (243)%16 x (243)0%4 jsequal to: 243 . 2=V -1\ . i
(a) 0.16 (b) 3 24, (m + > +1) ‘mpllﬁes to:
()1/3  (b)0.04 (a) 2-V3 28/3
The value of (256)%16 x (256)%99 is () -3
(a) 256.25 (b) 64 2
(0) 16 (d) 4 25, J§+J§) isequal to:
The simplification of 2:06X0.06x0.06 -0. 05x0.05%0.05 (b) 62
( ) 1 p (b) 0.1 0,06x0,06+0,06x0,05+0.05%0,05 (d) 68
a .
©001  (d)0.001 )51x06 .5-45, (i;?‘; .5x3.5) isequal to :
Slmpllfy . 0.05x0.05%0.05 -0.04Xx0.04%x0.04 (C) 7 (d) 6
(a)1 (%355_?“0'00“0'0“0'04 7. (7.5x7.5+37.5+2.5x2.5) isequal to :
(© 001  (d)0.001 (100  {b)80
Simplify 5.32X56+5.32X44 (c) 60 (d) 30
P (7.66)% -(2.34)2 28. (36)/6isequalto:
(@) 7.2 (b) 8.5 (@)1 (b) 6
(10 (912 4 @Ve ()76
Which one of the following is the N2 29. (8/125)-(4/3 is simplifies to :
and ¥47? (a) 625/16 (b) 625/8
(@) V2 (b) ¥2 (c) 625/32 (d) 16/625
©V3 (@3 \ 30. The value of (256)*16x(16)%18 is :
Which one of the followin, iggest?V4, Ve, (a) 4 (b) -4
%/1_3/ ,and “\/24?/. (c) 16 (d) 256
(a) V4 (b) ’ VTZ—VB)(V3+V)
©YE  (@" 31. The‘}ralu‘e/of 5+Q J
N srer=s1t 13fe=1t (a) V6 -2 (b) V6 + V2
?lr)n;hfy ( VE] [V ©V6-2 (d)2-6
a

14.

15.

16.

17.

(© z

If 27041 = )3 then the value of n
(@3 (b) 6

(@7 (A9

If 3x+8= 272x+1the value of Xis:
(a)7 (b)3

(c)-2 d1

(V8-V4—V/2) equals :
(@)2-v2 (b)V2-2
(©2 (d) -2
8%2/3isequal to:

()11/2  (b) 64/3

www.jkchrome.com
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. Simplify (83 HY):

[ 642/2 x 2-2 + 80]1/2

(@o (b)1
(©)2 (d) %
. The value of V11 + 2v/30 - ﬁls-
(@)2vs  (b)2vV6
() 1+V6 (d)1+V5
Simplify (T X

\ (15)3+(4.7)3+(3.8)3-3X1.5X4.7X3.8
/(1.5)2+(4.7)2+(3.8)2-1.5X4.7—4.7%3.8—3.8X L5
(@o (b1

(c) 10 (d) 30

www.jkchrome.com



35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49,

7 www.jkchrome.com www.jkchrome.com

e 1
Simplify (& HY (6257 (00140311

(0.027)3%(81)%
(@)0.14 (b)1.4
(1 (d)1.4
Simplify (&S HY
(@) 0.28  (b)1.41
(011 (d) 2.8
Which of the following number is the least 7(0.5)?,
v0.49,%/0.008, 0.23
(a) (0.5)2 (b) V0.49
(c) ¥0.008 (d) 0.23
Arrange the following in descending order : ¥4 ,vZ,

V3,5
(a)%/4>\/5>s/2>\/' (b)%/5>%/4>¢§>¢2
(QV2>V5>¥a>2 (d)V2>V5>V4 >Jz

The greatest of the numbers (2.89)%5, 2-(0.5)2,
, V3

(a) (2.89)0 (b) 2-(0.5)
(c) 1+0.5 / 1-(1/2) (d) V3
Among V2,¥3,V5 ,¥2 whichoneis the greatest?
(@) Vs (b) V2
(©3 (d)¥2
If (125)2/3 x (625) -1/4 = (5)%, then the value of x is :
(a)3 (b) 2
(90 (@1

0.13, 0.07
The value of (7)522451)(49)0 0(72::)(343)0 >
(@)3/7

(b)7/3
(c10/7 (d)16/7
v ¥/0.004096 is equal to
(a) 4 (b) 0.4
(c)0.04 (d)0.004
The approximate value of 2
(a) 1.0727 (b) 1.0606
(c) 1.6026 (d) 1.6007
23x23%23-1 |
—————isequal to
2.3x2.3+2.3+1

(b) 3.3

(@) 1.3
(0.3 (d)2.2

The ascending order
70.008 is

(a) 2-(0.5)2, V3,V
(2.89)05,

10.41x0.41%0.4140,69%0.69%0.69
70.41%0.41-0.14X0.69+0.69+0.69

55.

"_0

2
05, 2-(0.5)2, V3 and

89)%5  (b) ¥0.008,

2..89)0-5, 2-(0.5)2  (d)V3,¥0.008,

ne of‘JZ, V3,36, 5 is

(b) V3

(c) V6 (@35

Given V2 = 1.414. The value of V8+2V32-
3v128+4V50 is

(a) 8.484 (b)8.526

(c)8.426 (d)8.876

IfV15 = 3.88, then what is the value of ‘/5/3

(a) 1.293 (b) 1.2934
(€129  (d)1.295
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51.
52,

53,

54,

56.

&
Ko

59.
60.
61.
62,

63.

64.

65,
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The rationalising factor of 3V3is

(@1/3 (b)3

(c)-3 (d) V3

J2+ 24+V2+.....isequalto:

(@) \2 (b) 22

()2 (d)3

The value of 2 + ¥0.09 - ¥0.008 =75% of 2.80 is :
(a)0 (b) 0.01

(c)-1 (d) 0.001

The value of (¥/3.5 +¥2.5){(¥/3.5)2 -
is:
(a)5.375 (b)1

({2.5)3

(96 (d)s
The value of [3+2\/2)-3 + 3
(a)189  (b) 180
(108  (d) 198‘ ‘

V5 33 22
T A W Y P alto;
(a) 0 V154,

() 2V10

1 1

.25+/2.25 + V4.25+V325 + V5.25+V4.25 +

(b) 1.25

(d) 2.25
1
= is simplified to
a) -2 (b) -1
91 (d)2

10.3x10.3x10.3+1

is equal to
10,3x10,3—10.3+1

(a)9.3 (b) 103
(c)11.3 (d)12.3
1.49%14.9-0.51x%5.1 . is equa] to:
14,9-5.1
(@) 0.20  (b) 20.00
(c)2.00 (d)22.00
(0.04)-%5 on simplification gives :
(a) 25 (b) 125
(c) 250 (d) 625
3_ 3
% is simplified to :
(@) 1.06  (b) 0.95
(c)0.86  (d)0.97
64—0.008 .
The value of Toros1007 1S
(a) 2 (b) 3.8
(c) 0.6 (d) 4.2

When (4+\/7] is presented in the form of perfect
square it will be equal to :

@enn: o) (24

© {FN7+ 1)}2 () [«/3+4)2

The simplified form of =——= \/'+\/' \/_7_\/_ \/_ \/_
(@) 5 (b) 2

()1 (do

(1/2)1/2is equal to :

(@) 1/V2  (b)2\2

www.jkchrome.com
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71.
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74.

75.

76.

77.

78.

79.

80.
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(c) \2 (d) «/2
1 1 1

NI R e . e e w
(@) \3 (b) 313
(€)3-V3 (d)5-V3
(16)°16x(16)0-04x(2)02 is equal to :
(@)1 (b) 2
(c) 4 (d) 16 1 1 1
Sirriplify W?ﬁ)m—m_m-m*m-m_
Vs "t Tai
(a) 10 (b)9

(d) 11

(c)13
1

1 . . :
[m + m] in simplified form equals to

(@)1 (b) V2
(©1/¥2 (d)o
[Q/ZxVZXi’/3x\/3] is equal to

(a)6° (b) 6576
(c)6 (d) None of these
{(—=2)"?}%isequalto:
(a) 16 (b) 8
(c)-8 (d)-1
0.796x0.796—0.204x0.204 .

The value of 0.796—0.204
(20.408 (b) 0.59
(c)0.592 (d)1

(2.3)340,027 .
(2.3)2)—0.69+0.09 is equal to :
(@) 2.60 (b)2.00
(c)2.33 (d) 2.80

5.71x5.71X5.71=2.79%2.79%2.79
5.71X5.71+5.71X2,79+2.79%2.79
(@)85  (b)86
(282 (d)2.92
(1.5)3+(4.7)3+(3.8)3—3x1,5x4,
The value of (1.5)2+(4.7)2+(3.8)2—1.5x4.

in simplified form is :

(@0 b1

()10 (d) 30

[ (0.73)3+(0.27)3 )
l(0-73)’+(0-27)2-(0-73)><(o.27)] simplifies to
()1 (b) 0.4087 'S
(9073  (d)0.27

[3-4(3-4)-1]"1is

The smallest of V8+V5, V7+V6, V10+V3 and V11+V2

1S :
(a) V8+\5 (b) V7+V6

(c) V10+V3 (d) V11+\2

Which of the following is the largest number ? \/2, 33,
V4,6

(@) V2 (b) V3

() V4 (d) V6

www.jkchrome.com
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81.

82.

83.

84,

85.

86.

87.

90.

91.

92.

93.

95,

96.
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Which is the greatest among(V19 -V17), (V13 =V11),
(V7 -V5) and (V5 - V3) ?

(a) V19 =17 (b) V13 - 11

(©) V7 =5 (d) V5 -3

The greatest number among ¥ 2, \/3, {5and 1.5is :
(a) V2 (b) V5

@©V3  (d)15

The greatest of \/2, {3, ¥ 4, V5 is

(a)V2 (b) V6

(c) V4 (d) V8

Ifx 1/,__+://__ andy =
(@8 (b) 16
(©)2V15  (d) 2(V5+V3)

Which of the following is @ ?
(@) 9/5 (b) 1.75
(c) 173/100 d) 1.

0.75%0.75=-2x%0.75x
(a) 250 2500
(c) 25 25 &
The great ne f\l4, ¥4, 3/6 and V8 is

V5-v3

N then )

x0.25 is equal to

\/5+\/2+\f16 (b) 1+V5+v2-V10
1+«/5+x12+«11o (d) 1-V5-v2+v10

3 +‘/_+3+\/_ e 31sequalto
(@1 (b)3
(©)3+V3  (d)3-\3

8 —2V15 isequalto:
(a) \5+\3 (b) 5-\3
(©)V5-V3 (d)3-V5

1
42+/2.2 .
IB (zJ_)] is equal to

(a) 32 (b) 8
(91 (@0

3V2 26 , 2V3
s B + ez S equal to
(@)3 (b)2
(©0 (d) V3

1,01 1
(et +7m+ om T ons) IS aual to
(@) 1/3 (b)5/16
(c)3/8 (d) 41/7280
137x137+133x133+18221 .

is equal to
137x137x137-133x133x133
(a)4 (b) 270
(c)1/4 (d) 1/270
2.75X2.75%2.75-2.25X2.25X2.25
is equal to

2.75%2,75+2.75%2.25+2.25%2.25
(@)-5 (b) 0.5
(c)-0.5 (d)5

The greatest among\/7—\f5, \/5—\/3, \f9—\/7, V11-\9is :
(@) V7-V5 (b) V5-13
(©) V9-V7 (d)V11-\9

www.jkchrome.com
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97. Greatest among the numbers 3 9, \13, V16, /80

(@) V9 (b) V3
(V16 (d) V80
98. The least one of 2\/3, 235, V8 and 32 is
(@2V3  (b)2¥s5
(c) V8 (d) 32

346
5v3-2V12-V32+y50

99, Given that V3 = 1.732, the value of
(a) 4899 (b) 2.551
(c) 1414 (d)1.732
100. Given that V5 = 2,236 and V3 = 1.732 : the value of
1.
S
(2)0.564 (b) 0.504
(c) 0.253 (d) 0.202

101.2¥32 -334 +¥500="7
(@)4¥6  (b) 324
(6¥a  (d)916
102.J12 +4/12+V12+ ... is equal to
(@3 (b) 4
(c)6 (d)2
103.If a = ?, then the value of V1 +a++vV1 —ais:
(@) \3 (b) V3,2
(©)2+V3  (d)2-\3
_ V5+1 V5-1 a?+ab+b? .
104.1f a = 7o ,b= NI the value of ——-—=
(@3/4 (b)4/3
()3/5 (d)5/3
105. (0.04)-(19) is equal to
(a) 25 (b) 125
(c) 60 (d)5
106. The value of ¥1372x3¥1458+¥343 is
(a) 18 (b) 15
(c) 13 (d) 12 V'S
107. == — —— is equal to

"B+ Vo3 \/_+\/_
(@)-2V6 (b)-2\5

(©-2V3 (d)0 P
V3+VZ  V3-V2] . .
108. N \/§+\/€1 simplifies t F)
(@2V6  (b)4\6
(©2V3 (d)3
1 1 1
109.m—\fg —\/__‘/_ = \/_ls equal to :
(@5
()3
110. (\/f - 10) is equal to
(@) V2 (b) \7
(© V5 (d) 275
111.By how much does (V12+V18) exceed (2V3+2V2) ?
(@) 2 (b)\3
(N2 (d)3
(5.624)3+(4.376)3 . ErAGEY
112. 5.624x5,624(5.624%4,376) +4,376x4,376 is equal to (a;
3))
(a) 10 (b) 1.248

www.jkchrome.com
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(c)2044 (d)1
(998)2—(997)%2—-45

1132220 =7
(a) 1995 (b) 195
(c) 95 (d) 10

114.Given that V5 = 2. 24, then the value of

(a) 0.168 (b) 1.68
(c) 16.8 (d) 168
115. Given that \/2 = 1.414, then the value of No7EY

(a) 0.414 (b) 2414
(c)3.414 (d)5.414
2+

116.1f V3 = 1.732, is given, then the —5 s
(a) 11.732 (b) 13.928

(c)12.928 (d) 13.925
117.1fx + %= -2 then the valu @ + 2,1”1 where n is

a positive integer is

is

2\/' 0.48

(@o (b) 2
(c)-2 (d)-5
118.If mand n are‘hole numbers such that mn=
121, the =1)n+1is
(@1
(c 000
1 1 1
119 =77 T Ve Ve T Vo2
(b) 4

(d) 2

)
@J 56)0-16x(4)036 js equal to
K a) 64 (b) 16

(c) 256.25 (d) 4
(0.337+0,126)2—(0,337—0.126)2 .
0.337x0.126 1

121.The value of

() (b)
(©) (d)

122.Evaluate (3l $Y)16 ’%— 9 Jéif\/lz =3.46
(a)3.46  (b)10.38

(c) 13.84 (d) 24.22
123.1f 3**y = 81 and 81x*Y = 3, then the value of xis

(a) 42 (b) 15/8
(c)17/8 (d)39
124, :ng is equal to

(@) 5+2V6 (b) Z2E

(©)5-2V3  (d) 5+z«/3

—c/2-=5
125. Simplified form of [(5\/x-3/5 ) 5,3] is
@%  ([)x*
(c) x (d) 1/x
V3+1 V3-1
"V3-1 + V3+1 +
(a) 10 (b) 12
(c) 14 (d) 18
127.Find the value of x in the expression V3x+1=2
()3 (b) 6
(c) 4 (d)5
V7=V5 | JTH5 .

12872+ 202

VZ2+1
V2-1

V21 .
V241

126 is simplified to

isequal to :

www.jkchrome.com
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(@)12 (b) 6V35

(©)6 (d) 2V35
129. (ﬁ + ﬁ + ﬁ +2- 2\/7) is equal to

(a)0 (b) 2v2

(©) V2 (d) 2V7

—21—1

130. [{(— %)2} ] isequal to:

(a)1/16 (b) 16

(c)-(1/16) (d)-16
131.—2Sf’xzm:z”'*x“4 is equal to

(a) 420  (b) 400

(©)360  (d)320
132.[8.7x8.7+2x8.7x1.3+1.3x1.3] isequal to :

(a)1.69 (b)10

() 75.69 (d) 100

(3.06)3—(1.98)3

133. (3.06)2+3.06x1.98+(1.98)2 is equal to :
(a) 1.08 (b) 5.04
(c)2.16 (d) 1.92
3.25X3.25+1.75X1.75—2X3.25X175 . . e
134. 253251 75% 175 is simplified to
(a)0.5 (b) 0.4
(c) 0.3 (d) 0.2
135, 2.08X0.08X0.08+0.02x0.02%0.02 simplified to :

0.08%0.08—0.0016+0.02X0.02
(a)0.001 (b)O0.1
(c) 0.0016 (d)0.016
136. The greatest number among 260, 348,436 and 524 is
(a) 26 (b) 348
(c) 436 (d) 524

138. The largest among the numbers 0.95(0.9)2,

(2)0.9 (b) (0.9)2 ¢
(V0.9 (d)0.9

139.J12 +V12+VI2 +
(@)3 (b) 4
(©6 (d)2

140.,’343\/3 e iS €
(a) V3
(c) 2V3 \3

141.The h when multiplied with (V3+12)
gives ( 18) is
(2)3V2-2V3 (b) 3V2+2V3
(©) V6 (d) 23-3V2

142. The value of ;:ﬁ + ::g + g’: is
(@) 16+V3 (b)4+\3
(©)2-V3  (d)2V3

143. The square root of 14+675
(@)2+\5  (b)3+V5
(@) 5+V3  (d)3+2\5

www.jkchrome.com

137.The greatest among the numbers ‘/2, {3,135, %
(@) \2 (b)¥3
Ve (@5 ‘ ’
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1 1 1 1
144.The value of taatmast -t T

is

VZ+1
(a)1 (b)9
(©)V199  (d) V99-1
(0,05)2+(0.41)2+(0.073)2
145. (0.005)2+(0.041)2 +(0.0073)2 =7?
(a)10 (b) 100
(c) 1000 (d) None of these

146.The smallest among Y12,33,V4is:
@Viz (®)?3

(c) V4 (d) All are equal
147.Among the numbers \/2, ¥ 9, V16,332 reatest
one is
(a) V2 (b) V9
V16 (@32
148.The greatest among the n S&/3,"3% 'W12,1is
(@1 (b) V4
(©) V3 (d) V1
149. The greatest am:r;gbers 3\/2, 3‘/7, 6V 5, 2v20
is
@", L 4
8 ko

ong the numbers 0.09 ,40.064,0.5

(b) ¥0.064

(@) 3/5
@ e greatest of the following numbers 0.16, V0.16 ,
0.16)2,0.04 is
(@)0.16 (b)Vo.16
(c)0.04 (d) (0.16)2
152. The greatest of the numbers V8, Y13, 116, ‘Y41
@VvV13 (b)) V16
(V41 (d)¥V8

153.1f V2 = 1.4142, find the value of 2V2+V2+—— — ——

2+V2  2—\2
(a) 1.4144 (b) 2.8284
(c) 28.284 (d) 2.4142

154. The square root of (\I3+~12) i

Vz) S
(@)V3+V2 (b) V3-\2
(V23 (d) V2-\3
155.1f 0.42 x100k = 42, then the value of kis :

(a) 4 (b) 2
()1 (d)3
156.1f 2% = 3v = 62 then G+§+ i) is
(@0 (b)1
(c)3/2 (d)-(1/2)

157. (;,}5%2; + ﬁ) is simplifies to (T FITHIOT & 1)
(@)V5+V6  (b) 2\5+V6
(©\5-V6 (d) 2V5-3V6
158. When simplified equal to 256~1+ "] is
(a)8 (b)1/8
(02 (d) %
159.23/40-43/320+3%625-35 is equal to
(a) -2¥/340 (b) 0
() ¥340 (d) V660
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160. The value of ¥/0.000125 is (c)1111 (d)1211
(a) 0.005 (b)0.05
(c) 0.5 (d) 0.005 176.Find the value ofJ30 ++/30++V30+ ...
0.355X0,5555%2.025 .

161, exi77sxozzzz 1S €qual to ()5 (b) 3710

(a)5.4 (b) 4.58 ()6 (@7
(45  (d)545

3
177.The value ofj2J4 2V& e S

7

162.The value of .[40 +/9V81 is

@111 (b)9 @2z ()2
(©7 (d) 11 (c)2 (d)2
(x=24) (V75+50) 178.553+173-723+201960 is equal to
163.1f T = 1, then the value of x is (a)-1 (b) 0
@\5 ()5 (91 @17
(©2V5  (d)3Vs5 179.What is the value of 2_75:2'7 - is
164. Evaluate (el #Y)\20+V12+3729-———— V81 (a)2 (b)3/2
™ % (091 (d) %
(V2 (b) V3 243)1/5
180. The value of &2
(©0 (d) 2v2 '( 3 o) 99"x
_ 1 1 1 a
165.Leta = s te et then we have (©6 412

(@)a<18buta#9 (b)a>18
(c)a=18 (d)a=9

181.The simplj 6; alue OF (V3+1) (10+V12) (V12-2) (5 -
166.1f a, b are rationals and aV2 + b\3 = V98 + V108 -

\48 - \72, then the value of a, b are respectively ) 32
@1z (b3 18 lified value of (0.2)3%x200+2000 of (0.2)? is
(©2,1 (d2,3 (b) 1/50
167.Let ¥a = ¥/26 +37 +¥63 then (d1
(a)a<729buta>216 (b)a<216 @’ at is the product of the roots of the equation x2 -
(c)a>729 (d)a=729 3=07
V72xV363xV175 | !
168. The value of 7—————— (@)+V3  (b) V3t

(©)-V3t  (d)-V3
184.2n1 + 20+l = 320, then the value of n is

(a)55/42 (b) 45/56
(c)45/28 (d)55/28

“

169.2 + \,i +——+ ——equals to (@6 (b)8
3 24¥3  V3-2 (C) 5 (d) 7
(a) +(213) (b) =(2+\3) . 185. 461+4624463+464 is divisible by
(91 (d)2 (a) 17 (b) 3
170.1f 20— A+ B, then B-Ais ©11  (d)13
(a) -13 (b) 2N13 186.1f 5V5x53+53/2 = 522, then the value of a is
(@13  (d)3V3-\7 ¢ %"; % g
171.Find the simplest val V18 - 72 (given 187.A tap is dripping at a constant rate into a container.
V2=1.414 )- The level (L cm ) of the water in the container is
(a)4.242 (b)9. given by the equation L = 2 - 2, where t is time taken
(c) 10.6312 484 in hours. Then the level of water in the container at
172.The greatest e following numbers 0.16, the level of water in the container at the start is
0.16, ( 04 i (@0cm  (b)1cm
(a) 0 (c)2cm (d)14 cm ) ) . .
(© 004 ) (0.16)2 188.The value of =~ =+ 5 — -t = is
173.Which is greater ¥2 or V3 ? (a) 0 (b) 1
(a) Cannot be compared (b) 32 (©5 (d)7
(03 (d) Equal
174. The total number of prime factors in j 10+ j 25+ flog.‘.m
410x73x162x11x102 is 189. -2
(a)34 (b)35 V8
(©36  (d)37 ()8 (b) 4
175. The number of prime factors in 6333x7222x8111 (c1/2 (d)2 ) )
(@) 1221 (b) 1222 190. The simplified value of it T e
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(a) 0 (b) 1 7. d 8 c Y c
(<) 2 (@) 1/\/2 10 11 b 12

191. The simplified value of Jorz Vo2 22 ' ¢ ' ' a

VIH2HE V223 242 13. b 14 a 15, d
(@2V6  (b)2 ' ' '
(c) V3 (d) 0 16. b 17 c 18. b
2 62+72+8%2+92+102 , |
v iy  oduato 19. b 20. ¢ 21, a
(a)330  (b)355
(c) 305 (d) 366 22, a 23, C 24, C
193.(3x-2y) : (2x+3y) = 5: 6, then one of the value of 25. b 26.
2
iz 28. d 29.
R
31. c 32.
(a)1/25 (b)5
1 1 1 1 1

194.T}11evaluei)fm+ﬁ+ﬁ+ﬁ+ﬂ++\/§+\/g+\/g+ﬁ+ 37. c . .
V7+8 + VB+V9 is 40. .a d 42. a
(@2 (b) 4
()0 ()1 43. “ b 45. a

46. 47. b 48.

195. The value 0fJ72 +vV72+V72+ .....is a
(a) 9 (b)18 . 50. d 51. c
()8 (d) 12 . 53. ¢ 54. d

196.if \/33 = 5.745, then the value of the following is
approximately : V3/11 O . 56 a 57. a
(a)0.5223 (b) 6.32
(02035 (d)1 58. c 59. c 60. b

61. c 62. b 63. c

197. The exponential from of .[v2 X /3 is e g - 66
(a) 612 (b) 61/2 : . a .c
(c) 61/ (d)6 67. b 68 d 69. c

1 1 .

198. The value of T + TGS 70. b 71. a 72. d
@V2  (b)\3 * 73. a 74.  d 75. ¢
(©)1 (d) 4(\3+V2) 76. a 77. ¢ 78. b

199. The value of the expression 79. d 80. b 81. d

L 4
\/6+\/6+\/ﬂ....+upt 82. ¢ 83 ¢ 84. a
85. c 86 d 87 a
(a)30  (b)5
()3 (d)2 88. b 89. b 90. c
V2,

200.The value o W + ;;E is: 91. d 92 c 93. b
(@1
() 213 94. c 95 b 96. b

201.V403 ? 97 a 98 c 99. d
(a)26V2 ) 247
(c) 168 (d) 252 100. ¢ 101. ¢ 102. b

202.1f 11Vn =112+V343, then the value of n is: 103. a 104. b 105. b
(a) 3 (b) 11

109. a 110. e 111. ¢
oo 2. a & a 112, a 113. d 114. b
o« > c 6. b 115. a 116. b 117. ¢
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118. d 19. a 120. d 9\,3”2_(%53:2&)
121. a 122. a 123. ¢ SV3+V2-V3+V2
124. a 125. d 126. a > 2V2
127. d 128. a 129. d 3. (a)v2* +64+V28
1 1 1
130. a 131. b 132. d 5285 4 43%5F 8%
133. a 134. ¢ 135. b - 224414 22
136. b 137. d 138. d 24+4+4=12
5232 x2x2x4)-3Y4 5 X5 x5
142. a 143. b 144, b x4)
145. b 146. ¢ 147. b > 434 334 +534
3 3
148. b 149, ¢ 150. d ~9V4-394
- 634
151. b 152. d 153. b 5. 3 2
(C) 2+V3 2—/3
154. a 155. ¢ 156. a 2-5v3
3(2—V3)—2 (2—V3)
157. ¢ 158. d 159. b eV
160. b 161. ¢ 162. ¢
163. b 164. ¢ 165. a
166. a 167. a 168. d > =
0.16 0.04
169. d 170. 171. b (243) " x (243)
c ( 3)0.16+0.04 [am x an = am+n]
172. b 173. ¢ 174. ¢ > 243020
175. a 176. ¢ 177. a S =243
178. b 179. d 180 bQ 52438
181, ¢ 182. b 183. fd >243 =3
7. (d) (256)°% x (246)°%°
184. d 185. a 8 0.16+0.09
. > (256)
187. b 188. ¢ 1 >256°% > 256Y*
>%256 =4
190. d 191. a 8. © 0.06x0.06X0.06—0.05%0.05x%0.05
193. d 194. @9 a < 0.06x0.06+0.06x0.05+0.05%0.05
196. 198. [ . 0.06—0.05
199, 201. ¢ 70.062—= 0.06X0.05+ 0,052
202. aZ_ bz
a2+ ab+b22 5
o ) - (V3 ++2) (a=b)a“+ ab+ b
> 2V3+3V2-V3-V2 (a?+ ab+ b?)
> V3 +2V2 > a-b
1 So, a =0.06 , b =0.05
JG6+ 2V6) - ——— : /
@ vi( ve) ) V(5+2V6) >0.06 -0.05 - 0.01
- (ﬁ + \/7) = vz 9. (c)

[V(5+V2) =V(3+ V2)? > V3 + 2]

[a® +b® +2ab = (a + b)?]
1 V3—-42
=)
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0.05 x 0.05 x 0.05 — 0.04 x 0.04 x 0.04

0.05 x 0.05 + 0.002 + 0.04 x 0.04
(0.05)3 - (0.04)?

0.05% + 0.002 + 0.042
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a =0.05 (Description: same as above question)

b =0.04

- a-b->0.05-0.04

- 0.01
5.324X56+5.32x44

7.662 — 2.342
5.32(56+44)

(7.66—2.34) (7.66+2.34)
5.32(100)

(5.32)(10)

100
93 =10

(b) v3,3%v2,v2,v4
11 1 1

> 32,23 ,22’ 43 (take LCM of 3 & 2)
1 2 3 2

>32,26 ,26" 4s

S 832, 22, 22, Gva?

> %27, ®va, V8, V16

>3V2

(a) *v4, V6 , ®v15, *v245

2

17.

18.

19.

1 1 1
> 42,66 ,156’ 24512 (take LCM of 3, 4,12 &

6)
4 3 2 1
> 43 6 1550 2455

S Pyt ye® | 2v15? *v245
> 2y256, V216 , V225 , V245
- Biggest = *v4

1

> [52]° [57]°

(b) [Vevs]* [Fovs* 21
1_ 114 1114
N [59xgx§] [59xgx§] :

S22-2 -2
—>5vV2-v2-2

9

V2-2

(C) 82/3 9 (23)2/3
2
>2%

%

2°=4

2 -3
(b) 163 +16 2

9

(c

1
1632 4+ -3
3

162

2 >2°=8
0.01024)*°
(0:4%)

5x= _
204775 =04

(160.16 ><20.36)

9
%
9
9

24 0.16 x (2 0.36
(20.6)4 x 20.3(6 )
20.64+O.36

p )

www.jkchrome.com

>5°x5° _ P 2
gt ¢ 2 @) 6475 x ()
4 2 -2
” > @i )
2 N2
>a7x ()
N IN"2 /1\2-2 /17\2-2
K (z)o xG) G G
(a) 272"7 S (i) =1
3 g 23. () (1+\/§ " 1—\/5)
363 D\Brvz T Ve-3
6N — 5 (1+v2) (V5-V3)+ (1 —V2) (5+ V3)
6n=18 (V5+V3)(V5-+2)

_18 _ 9\/§—x/§+x/E—\/€+\/§+\/§—\/ﬁ—\/6
"3 (/5)2— (V3)?
(d)83""83=22712"+1 5 25-2v6 _ 2(V5-+6)
3= (3)" 2 2
3x+8 — 36x+3 N (\/5-\/6)

X+8=6x+3 24. 243 2—/3 | V3-1
5x=5,x=1 (C)Z—\/E 2+\/§2 V3+1
(b) (V8 -V4-v2) N (2+V3)+ (2-v3)"  3-1_ 3-1

@V3)(2+E) | VBr1 V1
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29.

30.

31.
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N (4+3+4\/§+ 4+3-4y3 + (V3- 1)2>
4-3 3+1

3+1—2\/§)
2

> (14+

—->14+2-Vv3=16-V3
VB+V3, . (VB+43)
(b) (\/— \/3) - (ﬁ_ﬁ)z
5+3+2v15 84215

5+3-2vV15 8-2v15
4+v15

4—/15
Similarly : (\/§+ ﬁ)z
" \W5-43
Thus, the expression
4 —/15 4+/15
? 4++/15 4—+/15

> 16+15+8v15+ 16+15—-8v15

16—15
- 62
(b) a =6.5
b =35

_4-V15
T 4+/15

S>(axa-2xaxb+bxb) 33.

=a’—2ab +b’

> -b)

- (6.5-35)Y >3*=9
(@) a =7.5and b =2.5
>axa+2abxb

> a’+2ab+b?

&
>

> (a+b)’ =(7.5+2.5)°
- (10)? - 100
2
(d) 365 > (62" > 6%
1
> 65 - 3V6 7S
3
(a) (125) 34.
125\3 5\31"?
- )|
2

6
(a) .16 x (16)0.18
9 (4)44)( .16 x (4)2 x0.18
9 40.64 x 40.36 9 40.64+O.36
>4
J (V72— vB)(v3+2)]
5+v24
/(\/3_+ V24—+/24-/16)
5+v24

9
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32.

35.
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6—4
5+v24
N 2 5—/24
5+vV24 = 5—/24
V2(5—V24)
> Ve 25-24

> 2J5-2V6
> v2((v3)° +(\/_) — 2V3x+2)

5 25— VD) @

>V2(V3-vV2)
> V6-2
() [643 X 272

a) (11 + 2+/30) -
e\/((\/_) + (\/_) + 2v6.5)

11+2+/30

\/((\/_) +(\/_) +2V6./5)

> (V6 + ‘/_) T

> V6 +V5— (v_+\/5)
Rationalising above equation

1 V6-+5
9V6+V5_\/€+\/§x\/€+\/§
> V6 +V5—

(V6 - V5)
2> V6+V5-V6+V5
- 2V5

(©)
(

(1.5)3+ (4.7)% + (3.8)3 —3x1.5X1.5 + 4.7 + 3.8
(1.5)% + (4.7)% + (3.8)2 —1.5X4.7—4.7%X3.8—3.8%
(1.5+(4.7)%+ (3.8)% —1.5%X4.7—4.7%3.8—3.8X1.5
(1.5)2+ (4.7)%2 +(3.8)2 —1.5X4.7—4.7%x3.7—3.8X1.5
Thus, (@ +b® +c -3abc =(a+b+c) (a’+b*+

¢’ -ab—bc - ca))
>15+4.7+3.8 > 10.0
> 10

1 1
(625)2 x(o 0144)2 +1

(d)
(0. 027)3 N (81)4
(2.5%0.12)+ 1 (0.3+1) 13
0.3x3 0.9 0.9
2144 ...->14
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0.41%X0.41X0.41+0.69X0.69%X0.69

© 0.41x0.41—0.41X0.69+0.69+ x0.69
(0.41)3 + (0.69)3
(0.41)%2=- 0.41%0.69+ (0.69)2
Thus, [a®+b? =(a+b) (a’+b’+ab)]
- 0.41+0.69=1.10

(c) (0.5)%, 1/0.49, 3/0.008, 0.23 41.
N2 N2 N2 N2
025 07 [0.2] 0.23
N
Least
@¥4 V2 &3 a5 42.
N2 NJ N N2
1 1 1
43 23 3% 52

N vy N

2 S 2 3
4712 212 312 512

2 voood 2 43
12,/44 12\/26  124/32 12,/53
v vy v
44
12256 2/64  12/9 12125

Descending order:
12256 < 12V125 < 12/64 > 129

Y4 > w5 > 2 > &/3
(c) (2.89)"'5 2 - (0.5)2 14—
V3
N N/
= 45,
(2.89)10 2— (0.259»
N2
Vv2.89
J 2
1.7 75 1+1 1.732
N2
2
™
Greatest 46.
(a) V' 4 15 2
N/ N/ N2
1 1 1
22 23 32 53
J J N/ N/
26/12 34/12 gl/4  94/12

N v N 2

www.jkchrome.com www.jkchrome.com
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124/26 12434 124/53  12y/4
J NA NA N2
124/64  12/81 12/125 12/16
*
Greatest

(d) 125%% x 625 *=5*
5 3x2/3 x 54x-1/4 = Sx

5°x5" =5
52- 1 - 5)(
x=2,x=1
(243)0.13 x(243)0.07
(a) 70.25%490.075 % 3430.2

2430.13+

- 70.25 X 72 0.2
35X0.20 0 _ 3
7

70.25+0,150+0.6 71

3x2%XV3 2xV3xV7

2x2v7 | T2
3x2xy3 | 7X\2 3v2

2x2x7 zxﬁx\ﬁ_) 4
3X1.414 — 1.0605

- Approx = 1.0605
() 2.3X2.3X2.3—1

2.3X2.3+2.3+1
a=23
b=1
(@®=-b3)
(a2+ab+b?)
N (a=b)(a?+ ab+ b?)
(a?+ ab+ b?)
-2>23-1=13
(b)
(2.89)°° 2-(0.5?% V3
N N
2.891/2  2-0.25
N2
Vv2.89
N2 0.2
1.7

J0.008

v

1.732

1.75

Ascending order:
0.2 <

1.7 < 1732 <
2 2 v

1.75
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NY

3V0.008 < 2.89%° < v3 <2-

(0.5)°

(b) \,2 9 21/2 9 215/30 = 30‘1215
=3%Y32768

Y3 > 313 - 310/30 = 304/215

=*%59049

V6 > 6l/6 S g5/30 = 30yg5 54.
=3%7776

5\/59 51/5 _)56/30 =3O‘,56
= 3%15625

So, V3 is the greatest

(a) v3 =1.414

- V8 +2V32 -3V128 +4v50

> 2V2+2x4V2-3x8V2+4x5V2
—>2V2 +8V2 —-24V2 + 20V2

S6V2

>6x1.414 ->8.484

oy & 35 _ (T
3 V3x3 NG

_ Y15

R

9% 1293

(d) 3v3 v3 =3x3 =9
Thus, Required rationalising factor is v3

© x=vV2+VZ+ VZ+ .
¥ =2+V2+ V24

X’ =2+X

X x—=2 =0 ’S

XX -2x+x-2=0
X(x-2)+1(x-2) =0

(x+1)(x-2) =0

X =2 L4

Shortcut method

When the questionii s form
i.e. R 56.
Then fa nl<n2
nl n2
S—ni. diff.
So nlis‘answer & V2 +2
[2] x 1

(a)
2 +V0.09 -70.008 -75% of 2.80

-2+03-02 - (%x 2.80)

-2+03 -0.2-2.10
-23-23 =0

() (V35 + V25)
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{(¥33)" - (Va75) + (¥25)°}
x=(¥3.5)
y =(¥2.5)
> (x +y) (¢ =xy+y?)
S>3 +y?
@4 (3-2vE)

> (Va5)

(d) (3+2\/2)33 +(3-2v2)? 3
i (3+;~/_) +(3 ;f)

3—-2V2
_)((3+2ﬂ 3 2\/2)3 2V
3— zf) O
3-2v2
3-2y7)\° +2v2
(55 + &
> (3-2V2) + (3 +2V2)3
a=3 ¢
b=3+
+b ) (@ + b? - ab)
—2V2+3+2V6)(17 +17-1)
9( 3)
(a) _3V3_ 4 =2 2v2
J'+J' T VB+vZ | VB+v3
V5 ><(\/'—s/')
\/'+\/' V3=+2
( 3V3_ V5-
5+ V2 V3 \/_
2vs V5-+3

BT V3 V-3
E-vis 3 Js(«/E—ﬁ) 2 Jz(«/?—\/i)
I ranie 52 5-3
- V15-v10- (V15 - V6) + V10 - V6
V15 -V10 - V15 + V6 + V10 —V6
>0

3.25=+/2.25

1
a) — V3.25=v2i.l>
(a) V3.25+v2.25 3.25—v2.25

N V3.25=v2.25

3.25=2.25
> V3.25-V2.25 ... (i)
1
V42 +/3.25
=V4.25-V3.25 ........ (ii)

BN 1
Vo5t Vazs
- V5.25 - V4.25
1

6.25+1/5.25
- V6.25 - V5.25

- Now add all them

www.jkchrome.com
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= v3.25-v2.25 +V4.25 -V3.25

+ V5.25 - V4.25 + V6.25 - V5.25

>V6.25-V2.25 >25-15 =1
57. 30 4371

(@) 39730

58. 10.3xX10.3X10.3+1
10.3x10.3-10.3+1

10.3% +13
(10.3)3— 10.3+ (1)2

103+1 (10.3)2 +(1)? — 103 x 1

(10.3)2 —10.3 + 12
- 103+1 - 11.3

59. 1.16X14.9-0.51%5.1
C
() 14.9-5.1

1000 _ 1000
- 149-51

—— (1492 - 51?)

1000
= (149-51) o

1(149-51)(149+51)
100 (149- 2

60.

3
(0.2)%*2
1 1

(0.2)  0.008
1000

_)T - 125

www.jkchrome.com

www.jkchrome.com

61.

62.

63.

65.

66.

www.jkchrome.com

O :
S

www.jkchrome.com

(©) 0.963 - 0.1¢
¢ 0.962 +0.096+0.12
->a =0.96
->b =01
a3 —b3
a? +a127+ bZ2
a-b (a® + b“ +ab)
2 a? +ab+ b2
>a-b
- 0.96-0.1 =0.86
64—0.008
(b) 16+40.8+0.04
9

(4)3 - (0.2)3
N (4-0.2)(42+0.2%2 +4
42 +4x0.24+0.22

> 4-0.2 =38

(4)2 +4x0.2 + (0.2)2

(c) 4+v7
9 8+2\/7
2 1 ¢

1/2(\/_+ 1)
5

2 7
& 7 VTE E V-V
N 2 V7 - 5+ 7 X\/_+\/’
\/7+\/§ V7-+5  J12-+5 7 V12++/5
_( 5 X\/_+\/_)
Vi2-V7 = J12+45
92(\/_ \/_)+7(\/_+\/§)_(5(\/ﬁ+\/7))
2 7 5
>V7-V5+V12 +V5-v12 -V7
=0
1
1
@ ()
1 1
1
©
N 1 \/_\/3
Va++/3x \/_\/3
9\/Z;x/§
- V4-vV3
Slmllarlyév_ N = V5- 4
\/_+\/6 - V6 -5
i v‘+vr - V7= e
f+f =V8 - V7
> =" -9 — 8

Now put values

www.jkchrome.com
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2>V4-V3+V5-V4+V6-V5+V7 -V6+V8-V7 +
V9 -V8 71.
- V9-v3
- 3-v3
(b) (16)%¢ x (16)%%* x (0.02)°?
N 160.16+0.04 X 20.2
N (2)0.8 X 20.2
N 208+02
>2t =2
72.

73.

g 1 % v100+ V99
(d) V100-v99 * 100+ 99

5 OOV, V100 — V99

Similarly

1
- m - 199 + V98
- o5 —vo7 - /98 + V97

...... and so on
Now, expression:

V100 + V99 - V99 - V98 + V98 + V97 +Q 74.
>V100+1 >10+1 =11
() ( 1 +_ 1

T\ vE-E V- -

1 V2++/3

2 W2 B)- (05)  Var A+ (

V2++3++/5 +x/g
9 2+3+2V/6-5 75
Similarly )

VZ—3)+ (VB)
VZ-3)+ (V5)

he value in question

(vV2+v3)+(V5)  (V2+v3)+(V5)

(2ve) (2ve)
N V2+/3++/5-V2++/3-5
\/_ 26 76.
2v3 1
Y06 2

(b) *v2 xv2 x3*3 xv3
9 21/3x21/2 X31/3 ><31/2

www.jkchrome.com www.jkchrome.com

www.jkchrome.com

x 35/6 S 65/6

9 25/6
(a)

(-2}
1

9 —_—
(202
1
? (12)~*
1
? (=2)~*
> (-2)* =16
(d) 0.796 =a, 0.204 =b
According to the question
a?-b? (a—b)(a+b)

? T T b
—>a +b
- 0.796 +0.204 O
- 1.000
(2.3)3 +o.og
(@) —
3)3

(a+b)(a?+b?— ab)
(a?-ab +b?)
—>a+b
23403
- 2.60

(d) a =571, b =279
axaxXxa—bXbxb
axa+axXb+bxb

a3 +p3
a%?- ab+b?
(a—b)(a?+b?%+ ab)
(a% + ab +b?)

- (a-b)

->5.71-2.79

=292

(c)

(1.5)% + (4.7)% +(3.8)3
(1.5)2 + (4.7)2+(3.8)2 —-1.5x4.7 7
3x15%x4.7x 3.8
—4.7x%x 3.8 —3.8x%x1.5

> a =15 -b =47
->c =38
a® +b3 +3abc
2 a? + b2+ c2 -ab—bc —ca
> a+b+c
>15+4.7+3.8 =100 ->10
(a) a =0.73, b =0.27
(13 +b3
a?+b2%2-ab
(a + b)(a® + b — ab)
(a? +b?>— ab)

www.jkchrome.com
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- a+b 073 +0.27 =1

(c) B-4@B-4"11 83.

> B-4(=DT

K [3_(—f)-1]_1
> 3+47!
S>7t =

N

(b) 212n _ 64n
S (23)411 _ 64—n S 84—n _ 64-n

N (82)271 _ (62)271 84.

> 642" — 362"
> 64" -36™" =
> (64 +36) (64-36)
->100%x28, - 100 Ans.
(d) v8+V5 =(v8+ v5)
= 8+5+2V40 =13 +2v40

(V7 +V6) > (V7 + V6)2 > 7+6+2V42 85
13 +2v42
- (V10 +V3) > (V10 +v3)?

> 10+3+2v30 > 13 +2v30
SVI1+V2 > (V11 +V2)®

{n =1}

\/2 =21/2 9 26/12 9 26/12 9 12\/26
> 3 =37 53V 13

9 4\/4 — 41/4 9 43/12 9 12 2

(d) (V19-v17) = (V19 -V17) x
V19 + V17 19 —-17

-

VIO + V17 Y19+
Similarly (V13 -V

(V5-v3) =
Largest + me Numerator is divided
by S inator) 88.

NE NE NE NE
bva  ®v27 %v25 ®v11.35
NE

www.jkchrome.com www.jkchrome.com

2> 11+2+2v22 - 13 +2V22
V11 +vV2
(b) 87.
64
81

www.jkchrome.com

Largest
(c)
V2 6v3 3v4 45
N N NS N2
21/2 31/6 41/3 51/4

\ N v N
26/12 3212 4412 53/12
N2 N N N2
1 1 1 1
(2= (3Hz @¢He (e
N \Z N\

(256)1z 5)1

(64)iz  (9)i

N 5+3 5?3—2\/ﬁ

8 Ans.

173
=1.732 > Too Ans.

0.75 =a, 0.25 =b
> axa—-2xaxb+bxb

> a?> —2ab+b - (a-b)?
- (0.75-0.25)°

- (0.50)> =0.2500 Ans.

(a)

V4 3v4  4V6 6V8

Ny NY NV NV
41/2 41/3 61/4 81/4

NY NY NY NY
12v46  12v44 12V63  12V82
J J J J
2ya096 '?v256 216 V64
NY

Largest

Ans. V4

12
(b) 3+V5+2v2
12(3+V5- 2v2)
> [(3+V5)+ 2v2][(3+V5) - 2v2]
12(3+V5-2v2)

9+5+615- 8
12(3+vV5-2v2) _ 2(3+V5-2v2)
6V5+6 ~ \B5+1

2(3+V5-2v2)(V5-1)
(V5-1)(V5+1)
2(3V5+ 5-210-3—/5+ 2V2)

N

N2

5-1
2(2v5+ 2v2- 2y/10+ 2)
4

N2

www.jkchrome.com
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N 2x2(V/5+ V2-/10+ 1)
4

2> V5+v2-v10+1

89. (b)) 3+—+— '

Gt s
>3+ \/1§+3+1\/_ \/_13
%4_[3\/_—3\/_

90. (c) /8 _2
9\/(\/5)2 - (\/3)2 —2/5V3

5 (5= 3y

91. " [ (MW

> (8-
> [8 .
92. (c 26 2v3
V3+1  6+2
[3\/_ \/_\/_] [2\/‘ V3- 1]
\/_42-\/\/__ X -3 NFERAN =
+\/_+2Xv_—2]
3/2(x/€—«/§)_ (2«/?(\/5—1))
N 2\/§><3\/€—2 i

2
- V12-V6 -V18 +V6 +V18 -2V3

www.jkchrome.com

[V5 — V3]4ns.

™

www.jkchrome.com

93.

O

97.

www.jkchrome.com

www.jkchrome.com

2> V12-2v3 S>2v3 -2v3 =0
(b)
+ 1 + 1 + 1 + !
14 4.7 7.10 110.13 10.13
1316
Formula:
1 1

Dif fernece of denominator value [First]

1
_LastValue]
1 1 1 1 1
Sit-g+i-geis

0
L
16
1 1 1
= N X —
> 3[1 16 1 16

(c) a =137, b
axa+bxb+ab

1
- = Ans.
137-133 4
(b) @ =2.75, b =2.25
a3_ b3
(a? + ab+ b?)
(a — b)(a? + ab+ b?)

(a? + ab+ b?)

9

> (a-b) >2.75-2.25

- 0.50
(b)

V7++/5 2

V7 -V5 = (V7 -V5) Wt \/5)9 N
- V/5-+3 > [\/—_H/_] Largest
>V9-Vv7 > ‘/— \/2—
> V11-v9 > NeT PO
[V5 -V3]
(a)
3V9 V3 4v16 6v80

N% N% % N%
91/3 31/2 161/4 801/6

N2 N2 N2 N2
94/12 36/12 163/12 802/12
N% N% N% N2
12\,94 12\/272 12\/163 12\/802

www.jkchrome.com
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100.

101.

102.
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Square of 81 is largest. So Ans. V9

(c)
2v3 245 v8 3V2

J NY NY
(4x3)Y? “y(5x16) V8 V18

J J J J
121/2 801/4 81/2 18/1/2

J NY J J
122/4 801/4 82/4 18 /2/4

J NY Ny N
viaa  “v80 [*ve4] V324

smallest

V8 is answer

g 3+/6
d) s —vezrve0
R 3+6
5V3— 2x2V3— 42+ 5V2
3+V6

"~ 53— 43— 42+ 52
sovs 0D

T Brz . B2 Y'Y

- 3 =1732

(( =L x BB _VE=V3
V5+v3 " V53 3
050% _0.252

(c) 2°v32 -3*vA\+

= 2°V(2° x 4) -@4'% *V(57x4)

= 2x2%v4 -@3

=9%v4 - 3¥y4

=6V

(b) +/«/§+ VIZ+ ...

[4] x 3
(a)a=g —»a+1 =g

N V3+2

+1

2
442V3 5 (V3+1)?
4

4
(V3+ 1)?
4

9
+1=

www.jkchrome.com

N

www.jkchrome.com www.jkchrome.com

SvaFl = [BE

> V@+1) = \/_;1
Similarly, V1—a =
Put value :
V3+1 V3-1  V3+1V3-1 243
2 2 2 T2
->V3
104. _V5+1 , V5-1
(b) a+b -~/§—1+ V5+1

[(vV5+ 1)%+ (V35— 1)2]

V5 +1 5 -

? (V5-1) (vV5+1)

2[(~/§)2+ 1] 2(5
R0
a

10

1.
O (0. 04)10 0 042
K 5Ly low

0.000064 0.008 8
=125

(a) ¥1372 x Y1458 x V343

3
5 Y(1372x1458) - 3/5832

373

->°/18 X 18 X 18 > 18

107. (d)

3 1

sis V-3 e+ s

a2 (VB3 VerVE
V5+4v3 7 V53  V6-v3  V6+3
1 V6—5

te—E " Vovs

N 2(vV5-+3) 3(\/_+\/_) \/'—\/s
5-3 6—3 6—5
> V5-V3-V6-V3+V6-V5
> -2v3
108. v'+f _V3-v2
(b) 342

\/§+ﬁ \/§+\/E V3=V2Z B+2
V3-VzZ  3+VZ  V3+vV2 32

www.jkchrome.com www.jkchrome.com
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Y CER2E) M CE R 5> x 22

V2+1 2—-1

3-2 3-2 g
> (3+2+2V6) — (3 +2 - 2V6) Sy ¥2-1
VZ+1 7 W2-1
- 4v6 a1
> =(v2-1)
109. (a) 1 Vo+V8 _ V9+V8 >1.414-1
Vo-v8 T Vo+vs  9-8 > 0.414
> Vo+V8 116. (b) V3 =1.732
Similarly, ﬁ_ = 8+ V7 24V3 | 243 | 243
8_\/_7 7 T2-v3 | 2+3 4-3
———— =7+ V6 > 4+3+4V3
\/7_1\/6 >7+4x1.732
—— = V6+ V5 > 7+6.928 - 13.928
V6 1—\/3 117. (c) Shortcut method
——— =V5+ V4 e
\/g _ \/Z X+ *
Now put in the question, Letx = -1
> (V9 +V8) - (V8 +V7) + (V7 +V6) — (V6 +V5) + So1+2 =2 atched, 5o x = - 1]
(V5 +v4) Put n = ¢
> VI9+V8-V8-V7+V7+V6 -V6-V5+V5+V4 1
SV9 + V4 -
110 o3ve s V10 - (_1)3 +(11)3 =-2
: V2++7—2v10 -
@ { ) m" =121 =11
9\/2+\/52+\/§2 - 2V5+2 >m =115n =2
. % (m _ 1)n+1
> v2+ (V5 - V2) > (11-1)**! >10° - 1000
SV2 +V5-V2 9. 1
-> V5 3_\/§
111. (¢) (V12+V18) - (2V3 +2V2) 51 3+/8
> 2V3+3V2-2V3-2V2 3-v8  3+/8
>V2 V'S 3++/8
112. (a) a =5.624, b =4.376 9-8
a®> *b3  (at+b)(@a?+b?- >3+v8
az—ab+b2  (aZ - +b2O SimiIa;Iy ,
> (a+b) > T VB VT
- 5.624 +4.376 18— 7
10 V7 + V6
113. (998)2— V7 - ‘/31
- =v6+ V5
«/81— V5
=V5+ 2
T E- 2
N N - 10 Put value in question,
195 195 - (3++V8)— (V8+ Vv7)+ (V7 + V6)
114. (b) 35 - (V6 +V5) + (V5 +2)
25> 048 > 34V8-V8-V7 +V7 +V6-V6-V5+V5+2
axz24 —0a8 (V> =2:24) 23+2 =5
6.72 6.72
—— _) —
4.48—-0.48 4
->1.68
1
U @ % 120. (d) 256%x4°%
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- 4¥016 5 2036 . V3+1 \/§_1+\/§_1 xﬁ_l
0.64 +0.36 1
>4 >4 =4 V3+1 7 V3-1  V2+1  1+1
121. (a) Let0.337=x and 0.126 =y V3+ 1) (VZ+1)? (3 1)?
Now, expression is =T3-71 T 3.1 3-1
(a+b)2—(a—b)2 _4ab (\/E— 1)2

122. 3x4 4x3 2= %
(@ 16 |- — 9 |55 127. >(d) *“V@x+1) =2

@V(3x + 1)* =2

(3x+1)ax* =16
916><¥-93E 3x =15, x =5
> 4V12 -3v12 128. V7-V5 | V7+45
SV12 >3.46 @ s +\/_—\/5
123. (¢) 3**V =81 V7-v5 | (V7-B V5
3 =g 2 s T s Vs
Sx+y =4 ... (i) (V7-/5)
81 =3 V7-+5
3" =3 (V7 V5)> +1/5)>2
Sax—4y=1 ... (ii) > 33—
From equation (i) and (ii)
dx—-4y =1
4x +4y =16
8x =17 1 1
o 129° —t e tes T2-22

Vée+2 V6-2  J7+V6 = V7-+6

. O
124, 3v2+2v3 2 V6-2 1 V7 =6
@ z-2v3 K > X ==+ X +
3v2+2V3  3V2+2V3 1 x‘/§+‘ﬁ+ 2-22
7 Wz 23 3z + 243 :Q VB=V7 T VB+ 7

(3v2+ 2v3)” L 2AV6-2) VT-v6 VB+NT
—2V2
18+12+2+x3%2v/34/2
6 SV6—-2+4+V7-V6+V8+V7 +2-2V2
930+12\/€ ¢
s0o12vE SV6—24+V7—V6+ 22+ V7 + 2—
-> - 2\/7
125. > 2V7
130. o —2771
1
(@ @ [{(-3)) ]
2X—-1
_ 1°
A - (-3))
- |( )| 24 .
e, > (-3 = (=3 -%
= X5 =x"" =1/x 131. 256X256X144X144
126. V3+1 ﬁ+ 1 V3-1 +V2-1 (b 112
@ E XA 1T Bl Vae1 5 (256)%— (144)?
V3+1 V3+1 V2+1 V2+1 112

(112) (400)
2 112

(\/§—1)X(\/§+1) V2-1 ><\/E+1 - 400
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135.

136.

137.
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(d) a=87 b=13
>axa+2xaxb+bxb
a’ +2ab + b?
> (a+b)’
(8.7 +1.3)
- (10)*> x 100
(a) a =3.06, b =1.98
—p3
a? +axb+ b?
a — b (a®+b%+ ab)
a? +ab+ b?
> (a-b)
- 3.06 -1.98 =1.08

(c) a =3.25 b=1.75
\axa+bxb—2xaxb

axa—bxb

a? +b? =2ab
a2_ bZ
2
(a-b) _a=b
(a=b)(a+b) a+b
3.25-1.75
3.25+1.75

->

—)— —)— =0.3
(b) a —008 b =0.02
axaxa+bXxbxb

axa—ab +bxb

a3 +3

2 a2- ab + b2

a+b(a®>— ab + b?)

a?— ab + b2

>a+b

> 0.08 +0.02 - 0.10
(b) 2%° > (252 > (32)"
> 3% 5 (392> (81)”
>4% 5 (4% > (64
>5% 3> (59)7 >
V2  3V3 4y5

9

53/12 62/12

\ vy

12\/26 1%,34 12\,53 12\/62

J Ng J
2y64 2y81 *v125 '*v36
Ng
Greatest

-> 4V5

www.jkchrome.com
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138.

139.

140.

o

141

™

143.

144,

www.jkchrome.com

O

142.

www.jkchrome.com

(d) 0.9 (0.9 v0.9 0.9

NY J NY
81 095 =<
NA J NY
0.9 91 095 1
J
(Largest)

- 0.9
(b) Shortcut method.

VVIZ + ‘/JW

[4] x3
Thus, Take closest fac 9 argest is answer.
(b) V12 + V12
Shortcut metho
- When the questi from

ke out option and try

Let number is V6

- 6(V3+V2) =v12 +V18
- V18 +V12 =V12+V18
Matched

So this is answer.

2+V3 | 2=3 \/'+1
(@) —~/_+2+\/3

2+J' 2—/3
z—f 2+\/‘/—') (2+~/" 2—«/‘37)
V3+1 V3+1
* (m X 73+ 1)
@H3)?  2=V3)? (B+1)?
4-3 4-3 3—-1

S 4+344V3+4+3-4y3 4 E 120
>7+7+2+V3 - 16 +V3

(b) V14 + 6V5

—)J(3)2+ (\/§)2+x2x3xx/§

9’(3+\/§)2 >  3+45

9

11 V2-1
(b) VZ+1  V2+1 x«/'z'—l
ik SN S
2-1
Similarly,
éﬁih =+/3 = V2 andsoon.

Now put value
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SV2-1+V3-V2+V4-V3 ... + V100 - V99 gyz  q13v4 16%/° 410

S v100-1 >10-1 =9 glo/20 13520 1420 2q2/20
145. (b) LetP=0.05 NE NE N2 N%
Then’ i _ 005 20\/810 20\/135 20\/164 20V412
_ N2
Let0.41=q : 20,645 20\/135 200160 2y412
ThUS, 0.041 =— 153 1
10 * (b) 2v2 +v2 + —
And 0.073 =r , 2\7[2 \/3 V2
r
Thus, 0.073 = 1_0 9 2V2 +V2 + (( +\/—)(2 \/—))
According to the question,
c« p'z g+ 2 +q:2 ' S oV24V2+ —2‘/2—
272
PV (49) L (T Sov24v2 S22
(10) + (10) + (10) 2
S22 +V2-V2
pz +q2+ 1?2 >2v2
T p2tqetry 0 52x1.4142
100 =2.8284
146. (c) 6V12 3v3 4v4 154
) V) 2 ¢
(12)1/6 31/3 41/4
d d J V3++2 % V3+4/2
122/12 34/12 43/12 \[3_'_ ﬁ \/§+ \/Z
N2 N2 N2 > V3+V2
2y144 g1  Ae4 > K
L 0.42 x100% =42

I “putk=1
Smallest - 0.42x 100" =42
147. (b) V2 3V9  4V16  5V32

—>42 =42 matched
vVoov v K Sok=1

141 39 2 2 156. (a) 2 =3’ =67 =k
V9>20(2x2x2=8,5s03V9 >2) 32=k¥* 3=k¥ g =K

3V9 (greatest one)

148. (b) v3 va 12 ol IDU S'XZST/? :_fm
3\11//4 411//5 121\1//10 1 l+l=—l - l+l+l =0
3520 4420 152 1 X3
NZ NZ NZ
0y243 %25 4 1
149. (c) 3v2 6V5  2V20
N2 N2 N
V(9% x (36x5)  V(4x20)
N N N2 N2 157. 142 1-V2
vi 63 V180 V80 © %z T 5o s
150. (d) V0. V0.064 0.55  3/5
J d d J (1+v2)(V5- V3)(1 -V2)(¥5 - V3)
0.3 0.4 0.5 0.6 (V5+ V3)(V5 - V3)
2
151. (b) 0.\1]/6 vo.1i (0.16)\]/ o.oz:/ \/_ V3 T0— VBt VB4 VI VIO V6
0.16  0.40 0.0256 0.04 5-3
152. (d) *v8  *vi13 V16 1ov41 2v/5-2V6 2(v/5-V6)
) ) J ) > T
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158.

159.

160.

161.

162.

163.
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->V5-V6

P

(d) 256_[4_%] 9256_[15]

1
> 25671
>—
2568
> ——= >1/2
256%°8
(b) 164.
2°V40 >2x°VZX2x2X5
2 X2 %5
> 435
->4%320
4x3VAXx4Xx4x5
> 4x43%5
> 16 %5 165.
> 3%625
3x3/EX5X5xX5
>3x5%5
->153%5

(b) >v0.000125

>3+/0.05 x 0.05 x 0.05 - 0.05
0.355%0.5555%2.025

() 0.225x1.775x0.2222
355X5555x2025
225x1775 x2222 ®
1x5x81
9IX5X2 .

™

->4.5

V75— 50

_\/75—«/50
~ 75-50

V75-50)2
> (x-Vv24) =%

- (x-v24)

www.jkchrome.com www.jkchrome.com

KO_r

166.

167.

www.jkchrome.com

75+50-2v75v50
25

> (x -v24) =

125-50V6
25

25(5-2v6)
25
> x-2V6 =5-2V6

> (x-v24) =

- (x-v24)=

2>x=5
(c)

><2+\/§ 1 3+V8
2+V3  3-V/18 " 3+/8

1 4++v15
4+v15

3+V/8 n 4++/15

9-8 16—15

2+3
- s +

>2+V3+3+V8+4+V15
->9+V3+2V2+vV15
a=9<9+Vv3 +2V2+vV15<18
V3 =1.73, 2v2 =1.41,v15 =39
>9<9+1.73+(2x1.41)+3.9
- 17.4<18

(a)
av2 + bv3 = V98 + V108 - V48 - V72

SV7TXT7%X2 +V3X3X3%X2X2-

V2X2X2X2X3-43X3X2X2X%X2
> 7V2+6V3 -4V3-6V2
av2 +bv3 =1v2 +2vV3
a=1

b =2

(a)

3Va= 3v26 +3V7 +°v63
Take round figure

> 3va <3v27 + %8 + V64
>3Va<3+2+4

3va<9
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169.

170.

171.

28 www.jkchrome.com

>a<9’

->a=729

Option Ais answer.
V72x+/363%V175

(c) V32xy/147xV252

V2X2X2X3X3X V11X11X3X
V2X2X2X2X2X 3XT7XT7X

N V5X5x7
V2X2X3X3X7

N 62%11V3X5V7
4\2x73%6\7

6X11X5 _ 55
4X7X 6 28

6 1
GFraat

1
V3-2
2x3v3 + 11

+\/§X\/3 2+V3  2—/3
(2-V3)- (2+v3)
(2+V3)(2-V3)

2—/3-2—/3
4-3

(d) 2+

2
2>2+2V3+

2>2+2V3+

2> 2+2V3-2v3
22

4+3V3

(c) V7+43

>V7+ 43 IS
> (2+v3)

=A++VB

443V3 _
—)m—A+\/E L 4

A =-1andVB =2v3
B =2v3 x2v3 =12
B-A=12-(-1) =13
(b) 2v50 +vV18 - V72
2> 2x5V2+3V2-6V2

www.jkchrome.com
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172.

173.

175.

17e.

177.

www.jkchrome.com
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> 13v2-6V2
> W2 47x1.414
-9.898
(b) 0.16 v0.16 (0.16)% 0.04
N N N2
0.16  0.40 0.0256 0.04
(c)
V2 V3

Voo

T

22/5 33/6
| .
GV < 6.

10%%7°% x 16 x 11 x 10°
(2 10 x(7)3 x(2“)2x111x22x52
92204-84-2 X73 x111x52
> 20¥ x7*x11'x5?
Total factors = 30+3+1+2=36

(a) 6333 x 7222 X 8111
N 2333 X 3333 x 7222 x (23)111

S 2666 x 3333 x7222

- Total factors 266 +333 +222 = 1221

(©) J30+«/30+ V30
Y\

[6] x 5

@) x =2 Yav2¥4

->» Squaring both sides
>x*= 2 Y4/2¥4

Now cubing both sides

x6 =8 X 4x
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179.

180.

181.

182.
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- x5 =25
->x =2
(b) a =55, b=17
c=-72
a+b+c=55+17-72 =0
Thus, a°+b*+c® -3abc =0
(a+b+c) =0

answer =0

(d) Let a =2.75

b =225

a3 _ b3
Now, P EEEE—
K a? +ab+ b2

(a—b)(a? + ab+ b?)
(a? + ab+ b?)

- 2.75-2.25

5050 e%

24_31’1/5 X 32n+1
9n x 3n-1

(b)

35><n/5 x 3N+1

32n X 3n—1
371. X 32n+1
9 32n 4 3n+1
3n+2n+1 ‘
932n+n+1
n+1-3n+1

185.
10 +¥12) (V12 - 2)(5 - v3)
+2V3)(2v3 -2) (5-V3)
2> (V3+1)x2 (5+V3)x2(v3-1)(5-V3)
= 43+ 1)(V3 - 1) (5 +V3)(5 - V3)
>4(¥3)" - 12|[52 - V32 186.

2>4x2x%x22 176

(b) (0.2)* x 200 + 2000 of (0.2)*

www.jkchrome.com www.jkchrome.com

183.

&
™
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0.2%X0.2%0.2%X200 0.2x200
2000x0.2x0.2 2000
L4000 1
2000 50
(d) x*-v3 =0
x> -3"2 =0

X2 _ (31/4)2 — 0
(x+3"%) (x -3%) =0
x =3Y* or -3
Product of roots

3 x[-(3)7] =

(d) 2™'+2"*1=320
= 2""Y1+2%320
>2""Y1+2%) =320
>2"'x5 =320

320

S = = 64

%(2W1=%? - 64

> @ =)

>n=7

(@) 4%1 + 4% + 4% 4+ 4%
4°14% + 41 + 4% + &)

4% x 85

Now check with option

17 is divisible by 85

(a) 5V5x5°+5%% =5°*2

S 51 x 51/2 x 53 = 5-3/2 - 53+2

9 51+1/2 +3-(-3/2) — 5a+ 2
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188.

189.

190.
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955 =53+2
>a+2 =6
>a=4

(b) ATthestartt=0°

2>2-1=1cm
1 _ 1
) 7% "o
P S SR
G-z Vo-vi T 3e

Rationalising

191.

N V7 +/6 _ 1
V7+V6 (V7-v6)  (V6—+/5)
. Yorys N V5+ V4
V6+v5  (V5-+4)(V5+4)
N Vo++/8
(vo+8)(vo-+8)
N \/7?/6 _(\/541-\/5)+(\/31-\/5) _\/51\/7 n

V9+ 8

V8
>V4+V9 =2+3 =5
(d)

10 + J25+

192.

V10+V36
2

(d) According to the question,

1

V2—3-5

1
2 vt

1 1
P Wa-o)i v e

www.jkchrome.com www.jkchrome.com

1
> V7 +V6-V6-V5 +V5 +VA- V8~ ... V7 +V9 + @

www.jkchrome.com

V2=+/5-/3+/2-5+V3
(V2-+5)2— (v/3)2

2(v2-5)

7-210-3

2(v2-+5)

4-2/10

V2-+5

2—V10

N 1 (2-V5) 1
V2 V2-v5 V2

g _WEr2)

) Bz V2

9

->

9

W22
242

V2 V2
\/3><\/2><\/g +2V3 x 7 -2 (v2-1)

-2+2V2-2V2 +2 =0
6%+ 72+ 8%+ 9% + 102
V7443 -a+243
6%+ 72+ 8%+ 9% + 102
Jewm?- [y

6%+ 72+ 82+ 92 + 102

2+y/3-v3-1
> 6%+ 7?2+ 82+ 92 + 107
> 36+49+64+81+100

(a)

9

- 330 Ans.
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193. 3x=2y _5 198. —_t 1
(d) 2x+3y 6 (c) 1+V2+/3 + 1—VZ++3
18x—12y =10x + 15y 7\1+\/§1+ = + 1+\/§1_ o
8 =27y N 14+V3=V2+ 1+/3+ V2
2 2 2
x _ 27 x+ 35 (1+V3)2 = (V2)
y 8 3333y 5 2423 2423
) 4+42+/3-2 2+2v3
l V27 + V8 S>1
3327 - 338
. 19 V6 +V6+ V6 + ...
—=) = 2 _
> (3—2) ={5)" =25Ans. (2, 3) are the factor of £
194. (5 ﬁ:- -+ ﬁ:ﬁ + \/Z-i =+ \/E: = If there is ‘+’ in ‘v’ @ ieight value,
If there is *-“in er is lowest value.
1 1
Ve+ V5 V7i+ V6 8+ V7 Alternative->
L1
vo+v8e X EmORYeT VO

After Rationalizing both side)
=(V2 -1)+(V3-V2) +(V4-V3) + (V5 -V4) +
(V2 - 1) + (V3 - V2) + (V4 -V3) + (V5 - V4) A Py -

(V6 -V5) + (V7 - V6) + (V8 -V7) + (V9 - V8) O ,
X" =6+x
=v9-1 =3-1 K
2 Q [Thus, J6+ V6 + it
195. C) @ x—6 <0

(a) J72+ V72 + V72 + ...
¥\ .

X =3x+2x-6 =0
x(x-3)+2(x-3) =0

9] x 8
(x+2)(x-3) =0
196. (a) According to question; 'S
xisnotequalto2, & x =3
Thus. V33 =5.745

So, Answeris=3

3 200. .\ _3V7 _ 5v5 L2
1 b) Fve ™ Vorv T Ve R
33 _ . 3V7 V5-V2  5V5  \7-V2
K 1 11X11 - ~/§+w/5x~/?—~/2 ﬁ+J2xﬁ—~/2 +
5.745 2V2 \V7—+2
_>T - 0.5223 V7+V5 T VT+42

_ 3V7(5-V2) _ 5VE(/7-v2)
W52-022  (V7)2-(v2)*

> VVZxV3 > Jg 4 20207-75)
1

197. (c) The exponential from of

(V7)2-(5)?
1\ 5 - - - -
N (65)2 N 61/4 = V35-v14-v35+v10+Vv14 -V10
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=0
201. (c) v4032 xV7

VAx9x4x4xT7xV7
=4x2x3x7
=168
_414032

9| 1008
4112

428
7
202. (d) 11vn =v112+v343

11Vvn =V(2x2x2x2x7)+V(7x7x7)
11Vn = 4V7 + V7 L 4
11vn = 11v7
vn = V7
n=7

3
™

J.(:HIQQ&EZ
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